
PRESSURE ALTITUDE: 2000 FT.
TEMPERATURE: 21° C
WIND: 15KTS HEADWIND
GROSS WEIGHT: 2950 LBS

EXAMPLE PROBLEM

1. START WITH WEIGHT1. START WITH WEIGHT

3. SELECT TEMPERATURE3. SELECT TEMPERATURE

DIRECTLY ACROSSDIRECTLY ACROSS

1740

4. OTHER FACTORS

  INTERPOLATE
2. GO TO PRESSURE ALTITUDE2. GO TO PRESSURE ALTITUDETHIS CHART ONLY HAS THE MAX.

TAKEOFF WEIGHT LSITED, 
WHICH IS THE MOST CONSERV-
ATIVE VALUE. OTHER CHARTS MAY
HAVE MULTIPLE WEIGHT VALUES
OR A CONVERSION FACTOR FOR
LOWER WEIGHTS. 

IN THIS CASE, OUR PRESSURE ALTITUDE
IS 2,000 FEET. THERE ARE TEMPERATURE

COLUMNS FOR 20° AND 30°.
BECAUSE OUR VALUE OF 21°
IS IN BETWEEN, WE MUST
INTERPOLATE.

DEPENDING ON YOUR MODEL, 
THE NOTES SECTION WILL VARY. 

IN THIS EXAMPLE, WE MUST
FACTOR IN THE DIFFERENT WINDS.

WE SEE THAT A 15KT HEADWIND DECREASES DISTANCE BY JUST UNDER 15% 

1479 FEET1740 * .85 =

CONSIDERATIONS

STUDY TECHNIQUE

PAY ATTENTION TO THE AIRCRAFT CONDITIONS 
AND NOTES. THIS CHART IS VALID FOR FLAPS 20, 
2600 RPM, WITH COWL FLAPS OPEN ON A DRY, 
PAVED, LEVEL RUNWAY.  
THIS IS PERFORMANCE FOR TAKEOFF OVER A 50'
OBSTACLE. THE COLUMN TO THE LEFT UNDER EACH
TEMPERATURE RANGE REPRESENTS THE GROUND 
ROLL DISTANCE. 
REALIZE THAT THERE ARE A LOT OF VARIABLES
IN PERFORMANCE NUMBERS AND YOU ARE NOT
A PERFECT PILOT. ADD SAFETY MARGIN TO ENSURE
YOU OPERATE SAFELY. 500' IS A GOOD START.  

FOLLOW ALONG WITH THE PRACTICE PROBLEM
FIRST. 
AFTER YOU FEEL COMFORTABLE WITH HOW THE 
TABLE WORKS, DO SOME PRACTICE PROBLEMS
ON YOUR OWN.
IF YOU ARE FLYNG A CESSNA OR ANOTHER AIRPLANE
WITH CHARTS LIKE THIS, YOU NEED TO BE 
VERY FAMILIAR WITH THEM. 
IF YOU FLY AN AIRPLANE WITHOUT THESE CHARTS, 
BE FAMILIAR ENOUGH TO COMFORTABLY ANSWER
QUESTIONS ON YOUR WRITTEN TEST. 

CESSNA PERFORMANCE
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